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@ 17cm ® 3.14cm
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(95F) = (AE) x3.140]122

53.38 = (X&) x3.14 JYrt.

(A2) =53.38 +3.14 = 17(cm) 0|22
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29 Yol) = (A48 4 1)

— (99] 9B x (P29 5)
=10 x 31.4 = 314( cm?)
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(YA Eo] 3emQl ¥19] Wel)

: 3% 3x3.14 = 28.26( cm?)

(A5l 4ecmQ U] Hol)

: 2X2x3.14 = 12.56( cm?)
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- = -9 —9_(H
28.26 + 12.56 = 2.25 2100 24( 1)
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)%2 % 3.14 = 69.08

)%6.28 = 69.08

)= 69.08 + 6.28

11(cm)

D11 x 11 x 3.14 = 379.94( cm?)
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A @9 wAE : [ ]

[ ]x2x3.14=87.92
[ ]x6.28 =87.92

[ ]=87.92+6.28

D = 14(cm)

215 1 14x2 = 28(cm)
O HAE O
OXxOx3.14 =706.5
OxQ=1706.5+3.14
OxO =225

O =15(cm)

Z]5 1 15%x 2 = 30(cm)
30 — 28 = 30( cm)
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20cm

125.6.cm

20 X 2 X 3.14 = 125.6( cm)




